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anjana invested 41,700 for 6 years atthe rate
of 12 p.c.p. at S.1. How much amount will she
getin 6 years?
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38. Rinku consistently runs 415 meter everyday. I
‘how many days he will run 4.98 Kilometer?
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boys can finish' same work in 20 days. How
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finish the same work?

(a)6 days

(b) 10 days
(@) 4days

5% and 15% of same nuber i
% of same number,
(0) 174

@ 158

46. By investing 2 5000 kL. how mich
Ravi getin 2 years ?
@ Tssirs () T53125
@ Ts5125
(€) None of these:
47 What approximate value will come in place of
&)

question mark
5621+ 69 (12)° = 105=2

(@ 11900 ® 11625
(©) 13425 (@ 10400
() 16325

48, Costof 12 penand 5 pencil isZ 111. Costofone

§mdymazena{mu i TSl b cotofone pen. The it

will be e difference of WN fraction and
5 2

least fractor
® 113
® i1
25
@ 2
(OF-2
(&) None of these:
Mayank secures 54 marks in Hindi, 44 marks in

&

2 marks in English. Maximum
for each subject s Find
approximately overall percentage of marks

scored by May
@72 ()87
(c)68 @7
(€) None of these:

the cost of 9 pen and § per
50 25 -

(©) 201 @7
(¢) None of these

49 What least number must be subiracted from
6738 o make it a peretsqar e’

@1 (b) 16
g @ %
(&) None of these:
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Ravi. What was the difference of their ages §
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